ARNTEREFSREHFEHT - AOKEFR

TR 25F9A KRB
TR 25498 XKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAROD 26,666 34,653 37,028 71,681 BAANEFRAQ 26,647 34,647 37,027 71,674
SNEAERAO 193 233 236 469 SNEAERAO 192 231 238 469
KENMAB 26,859 34,886 37,264 72,150 KENHAB 26,839 34,878 37,265 72,143
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR EETHbiz AR EHET 1,052 1,433 1,412 2,845 B — Al =2 252 304 342 646 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 789 905 939 1,844 o b ¥ /N 119 166 171 337 HWmE—TH 798 899 997 1,896 wu&aE—THB 0 0 0 0
2 HT 75 Hh 15 PN ] 207 211 237 448 =H 111 146 156 302 WME-TH 557 678 759 1,437 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 874 1,012 1,080 2,092 A T S B 69 91 105 196 WE=TH 264 330 385 715 WILE=TH 0 0 0 0
TR s TR 1,016 1,241 1,381 2,622 K 198 245 246 491 WEMTH 199 258 290 548 WILEMTHB 0 0 0 0
T/ E i H/E 470 562 604 1,166 ETEFE 18 27 29 56 WEATH 772 1,043 1,157 2,200 BWILERTHB 0 0 0 0
K2 A EELW 191 228 272 500 FAFTET 172 177 213 390 FENARTH 90 119 121 240 WILEARTE 0 0 0 0
ma 106 160 155 315 T Hh i FhTET 126 142 158 300 W&EtTH 187 252 269 521 wWLUEtTH 67 95 101 196
T Hh i iR 257 320 369 689 At FET 130 176 164 340 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 93 104 141 245 Fa ET 175 220 263 483 HEEZTH 226 315 319 634 WILEATE 0 0 0 0
KE 822 966 984 1,950 PHHET 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 0 0 0 0
dt 2 [E iz ZzE 439 511 518 1,029 i = Hhig Fh T 35 32 48 80 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 160 194 189 383 BRHET 104 117 132 249 HESRTH 280 348 388 736 BWuE+=TH 0 0 0 0
i) i 188 219 236 455 % 79 77 104 181 HEBARTH 174 232 249 481 BWUE+=TH 0 0 0 0
4 this He 2,867 3,579 3,978 7,557 RifiFE 140 156 194 350 HEELTH 342 406 447 853 INEt 67 95 101 196
HZE A Hhis HES 1,671 2,086 2,288 4,374 AR o ERE—TH 53 59 75 134 HES/NTH 382 492 537 1,029 =1 11,181 15,485 16,309 31,794
BRI & AENE1~4TH 783 990 1,097 2,087 BRE—TH 284 336 370 706 HEEALTH 257 283 336 619
a2 & Ki2)I185~9T B 1,495 2,347 2,359 4,706 ERE=TH 43 64 68 132 AZN&—TH 338 415 462 877
W B & Hhis MWERE 2,144 3177 3,248 6,425 il 63 62 73 135 KEZJNEZTH 101 126 139 265
XA iz HmxEA 2,154 3,211 3,238 6,449 ek 37 25 40 65 KEINEBZ=ZTHE 344 449 496 945
LA Hh i wIlE 67 95 101 196 it 38 51 57 108 KZJNEMTH 0
=11 17,845 23,551 24,826 48,377 hnyE R ER iz INGE 57 58 64 122 KENEBEETHE 243 410 394 804
INET 81 79 82 161 KZNEARTH 561 820 811 1,631 (FH)
BARAFREHE - AOSEETF (IHIWLHEET) 447 82 89 108 197 R2NEETH 327 505 520 1025 X4 ik 5 % s
(LI EH 27 36 4 77 KENEBE/NTBE 364 612 634 1,246 mmEae—TH 164 211 222 433
1T I 4 BRI L 5 = &t HERE 104 112 132 244 KEINEATHE 0 mmE&e=TH 141 154 183 337
5 F st tisE 179 254 306 560 fit] W} 117 154 158 312 MWREE—TH 491 752 721 1,473 EMEXE=TH 139 161 182 343
[Fap il 405 568 594 1,162 TR 101 115 148 263 MREEZTH 120 190 189 379 AmEemTH 118 131 152 283
A6 3 B #thig FEE 394 591 590 1,181 [i] 46 53 57 110 MEE=TH 240 352 379 731 EMXEETH 54 66 68 134
T E i MTE 647 882 908 1,790 HRIR Hhig H 32 38 42 80 MREMTH 260 357 390 747 mAMmXEaNTH 165 197 208 405
HEF 60 62 90 152 BRI 64 70 91 161 MWRERTH 255 395 401 796 mmEaetTH 150 188 212 400
=58 deiAT R 131 182 197 379 IhEF 72 85 99 184 MWMEENRTH 289 417 416 833 mmxa/\TH 185 232 248 480
B 225 351 380 731 mp 36 47 53 100 MWREETH 267 414 420 834 mAMXaEATH 185 220 241 461
e 46 46 75 121 L3 G 38 4 49 90 MWRE/NTH 222 300 332 632 mmEae+THE 182 218 237 455
a1 51 76 86 162 Ei 37 42 48 920 wmEE—TH 274 317 323 640 EmnxE+—TH 251 311 326 637
EI\2 128 164 208 372 B/ 13 17 17 34 BEE-TH 360 545 522 1,067 mEmnEe+=TH 217 296 295 591
IRt &R i £33 75 100 130 230 N 5 6 5 11 BEXE=TH 333 538 539 1,077 mmEae+=TH 155 188 204 392
Eiha 55 74 84 158 Gl 31 46 46 92 mBEEMTH 263 409 434 843 mEmnEE+mTH 121 155 178 333
a5 97 139 141 280 BTF 20 30 26 56 BEERTH 345 538 567 1,105 mAnEae+aETH 135 185 171 356
tiae 147 179 198 377 4 2 ik ETF 15 21 22 43 BESNATH 301 511 504 1,015 =X 2,362 2,913 3,127 6,040
+IR7 68 92 85 177 3 10 13 12 25 mEELtTH 278 353 349 702
LRt ithig EIA8 95 126 124 250 =2E 9 7 11 18 wmEE/NTH 0 0 0 0
ti¥a9 114 141 159 300 i35 6 6 5 11 INET 11,114 15,390 16,208 31,598
tJR10 88 110 133 243 PNy i 14 11 17 28
WEXN 25 24 23 47 it 30 44 50 94
= REX S 5 6 6 12 %53 48 57 76 133
LR 67 50 62 112 FIN% & g Emxs 2,362 2,913 3127 6,040
=11 3,102 4217 4,579 8,796 =1l 5719 6,885 7,623 14,508




